Assignment 2 Marking Check List (5 marks)
Due Tuesday, August 24 by 11:59pm
This is the marking checklist for assignment two. Your tutor will grade your assignment according to the checklist here. Assignment two has several parts as per the assignment specification. The Marks of S, U, and N stand for Satisfactory, Unsatisfactory, and Not attempted. The tutor will check the square indicating your success at that section. You will receive marks for each section followed by generic deductions for poor programming style, compilation, and/or incorrect output.
A. Node design (1/2 mark)

	Mark Criteria
	Mark
	Comment

	A data structure (either a struct or a class) for a node on a list to hold (at least) (i) the unique word, (ii) the word’s frequency, and (iii) a pointer to the next node (on the list). (1/2 mark)
	
	

	A constant (e.g., MAXLINE) is used when declaring the array of characters for a word; declaration should use [MAXLINE+1]  (0 marks)
	
	

	A typedef should be used to create a new type for a node  (0 marks)
	
	


B. Linked List Implementation (1 mark)

	Mark Criteria
	Mark
	Comment

	Class (or set of functions) includes a method to insert onto a list (1/4 mark)
	
	

	Every allocation/deallocation done with malloc/free; there should be no use of new/delete  (1/4 mark)
	
	

	Class (or set of functions) includes a method to free all memory on a list (1/4 mark)
	
	

	head pointer on list is reset to NULL(0) after the list is freed  (1/4 mark)
	
	


C. Hash Table Implementation (1 mark)

	Mark Criteria
	Mark
	Comment

	Hash table is implemented as a data structure with associated functions/methods (can either be an array of list pointers or an array of lists)  (1/2 mark)
	
	

	Includes a key generator function (e.g., accepts a char* as an argument and returns an integer)  (1/4 mark)
	
	

	Key generator function uses a reasonable function (e.g., sum of ASCII values modulo the TABLE_SIZE)  (1/4 mark)
	
	


D. Main Program Implementation (1 mark)

	Mark Criteria
	Mark
	Comment

	enum(erated) type should be used to label DNA from ENGLISH input cases 
(0 mark)
	
	

	Initial character > (or line) of stdin read to determine DNA vs. ENGLISH text input file type (1/4 mark)
	
	

	ENGLISH words or DNA motifs correctly read until EOF with scanf()  (1/4 mark)
	
	

	Linked List methods (or functions) should be hidden from main() (that is, main should call the Hash.insert() rather than a List.insert() method)  (0 mark)
	
	

	Error message and appropriate action taken (e.g., exit(-1)) if an Insert() fails
(1/4 mark)
	
	

	All error messages and final report of the “number of collisions” are printed to stderr (not stdout)  (1/4 mark)
	
	


E. Runtime testing (1 1/2 marks)

	Mark Criteria
	Mark
	Comment

	(3/4 mark)

Test1_English.txt
4       ho

2       stop

1       pots

1       oh

to stderr:

# of collisions:  2

four unique words (1/4), correct counts (1/4), and correct number of collisions (1/4)
	
	

	(1/4 mark)

Test2_MobyDick.txt

(see sample output)
top-10 English words and frequency counts correct
	
	

	(1/2) mark

Test3_Ecoli10K.fna

(see sample output)

top-10 DNA motifs and frequency counts correct

(award 1/4 mark if some output is correct)
	
	


F. Generic Deductions 

	Mark Criteria
	Mark
	Comment

	Poor programming style, e.g., lack of indentation, poor identifier names, no internal comments (1/4 mark each but no more than 1/2 marks deducted in all) 
	
	

	Poor modularity, e.g., hash and list functions are not collected in an organized fashion in the appropriate files (1/4 mark)
	
	

	Global variables or data structures used (1/4 mark)
	
	

	Magic numbers appear in code (e.g., constants are not used when declaring arrays)

(1/4 mark)
	
	

	Other poor programming practice (1/4 mark to be deducted for each practice but no more than 1/2 mark in all); [marker to explain in code]
	
	


G. Final Mark Calculations

	Mark Criteria
	Mark
	Comment

	The final mark is computed by taking the total marks for section A, B, C, D, and E and subtracting generic deduction from F giving the final mark. 
	
	

	If the program does not compile, G becomes zero(0).
	
	

	FINAL MARK

= (A+B+C+D+E) - F
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